EARAROBEEIERT — 2 N— IBISH —F

2015828180 (k) 20mE5#A3H

M+ > %B3# B3 H5%—#f% ‘ (%] % ‘ (] — | 4 (@) 14000 &

[AE£] 1 %&:140,000 @ ~ 27%:28,000 ~ 3#&:1400MH  4%:0MH / 5%:0M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

i l2lgl €7 £ 5 ;%E%EEIJ 1:(2_9).8 2-2-2-2 |37.8| — 4 517 ?Jf.éé;;:‘é (€2
ARG 2AF— B:5T74 RS (=7 LIS
RibTAZLT BTUF1 TR D P O

3 6|7V /3IF # o4 ;%?g** (11:310/.22> 7-4-3-3 | 38.0| — 1 477 /?ﬁég%i )
LALNT TN ST @) | s e

41810 IRXTSATLZR 4 5 57%%?121(&5 1(:13/02.)3 9-9-8-6 |37.3| — 5 467 g;gﬁ_ (BEB)
R:TSATLREqM L B:3 22704 (-3) y4::Lie)

5011 ¥>tEnNzxFv> i 4 ﬁfﬂgE% (11:310/.25) 5-7-4-4 | 38.2| — 2 | 460 Ziﬁ'iﬁé (&R
L:TUHARIL R B:R4—4—5 (-2) SRS

6Bl 3| 7>VILRT O 4o s 4-5-6-5 [38.3| — | 3 | 420 m(;zﬁ%;ﬁ%ﬁ
Ri*xfavkR—-5— B:ALH¥FvI— (-5) a0%%

715/ 5| T—ILFILIFX 8 ;'z%’ééﬁ 1:(331).5 6-6-7-7 |39.0| — | 8 | 469 &:Eg;ﬁ;? ff%
QTS rEES—F B&Lb G0 Lk 2=
LN=YISL BHLETUTH—L )| segnsg

9 0| 7V=—v -2 # 8 57%*%6?*?1 1:(342).4 8-8-9-9 [39.4| — | 9 | 472 ﬁ*i;g)lEi;a _(g*;_&)w
QL= KTy K BTTFAET | A

wolzl7| 7VF«zbosrsg 4 8 %@g%a 1:(363).7 10-10-10-10{ 39.9 | — | 10 | 467 E(Q%g;“{z?)wyay
R:Vrzatr B:TUF«NT1 O \yar7-n

® 1—F—@EBIERL

13=2F= 9,8,4,3,1,5,6,2,10,7

20—F— 9,8,4,6,3,5,1,2,10,7

== 9,8,6,1,4,3,5,10,2,7

40 —F— 9,8,6,1,3,10,5,4,2,7

[ N5

B 8 2,450 714K 8-9 1,770 e E 7-8 5,730 JEE 6-8-9

BB 8 220 6-8 530M B = 8-9 12,530H EE 8-9-6 102,210

9 180M 6-9 3604 B H 8-9 17,870
6 100

ABICOVWTRDTEEERROODE. TR LIV,




